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Какое число надо вставить в 
окошко, чтобы равенство стало 

верным?

17• ⃝ =272

Найдем 
неизвестное 

число:Х=272:17=16
Ответ: 16.
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Какое число надо вставить в 
окошко, чтобы равенство стало 

верным?

 ⃝ - 186 =278

Найдем 
неизвестное 

число:
Х=278+186=464.
Ответ: 464.

2



Какое число надо вставить в 
окошко, чтобы равенство стало 

верным?

⃝ : 48 =12

Найдем 
неизвестное 

число:
Х=48•12=576
Ответ: 576.
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Какое число надо вставить в 
окошко, чтобы равенство стало 

верным?

324 - ⃝ =176

Найдем 
неизвестное 

число:
Х=324 - 176=148
Ответ: 148.
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Какое число надо вставить в 
окошко, чтобы равенство стало 

верным?

397 + ⃝ =603

Найдем 
неизвестное 

число:
Х=603-397=206
Ответ: 206.
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